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ApTukyn A, MM B, mm C, MM LleHa, €
106(300)P 650 600 300 1900
106(500)P 700 600 500 2410
106(700)P 800 765 700 2960
106(1000)P 1000 900 1000 4180
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ApTukyn A, MM B, MM C, Mmm LleHa, €
106A(300)P 650 600 300 2110
106A(500)P 700 600 500 2620
106A(700)P 800 765 700 3140
106A(1000)P 1000 900 1000 4360
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ApTukyn A, MM B, mm C, Mm LleHa, €
106.2(300)P 800 745 300 2050
106.2(500)P 800 720 500 2920
106.2(700)P 800 680 700 3510
106.2(1000)P 1020 750 1000 4580
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ApTukyn A, MM B, MM C, MM LleHa, €
106A.2(300)P 800 745 300 2140
106A.2(500)P 800 720 500 3010
106A.2(700)P 800 680 700 3680

1 OBA 2 106A.2(1000)P 1020 750 1000 4750
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ApTukyn ‘ A, Mm ‘ B, Mm ‘ C, mm ‘ LeHa, €
106SPAP | 220 | 220 | 150 | 760
7 8 7 /< s
N
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ApTukyn ‘ A, MM ‘ B, Mm ‘ C, Mm ‘ LleHa, €
106M | 485 | 480 | 350 | 1410
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ApTukyn A MM B, Mm C, Mmm LleHa, €
107(300)P 600 610 300 1870
107(500)P 600 610 500 2200
107(700)P 600 610 700 2840
107(1000)P 600 610 1000 3850
/B / Ve &
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ApTukyn A, MM B, mm C, Mm LleHa, €
107A(300)P 600 610 300 1970
107A(500)P 600 610 500 2400
107A(700)P 600 610 700 3130
107A(1000)P 600 610 1000 4310
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ApTukyn A, MM B, MM C, Mmm LleHa, €
111(300)P 700 500 300 1780
111(500)P 700 500 500 2150
111(700)P 700 500 700 2830
111(1000)P 700 500 1000 4110
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ApTukyn A, MM B, mm C, Mm LleHa, €
111A(300)P 700 500 300 1880
111A(500)P 700 500 500 2360
111A(700)P 700 500 700 3120
111A(1000)P 700 500 1000 4300
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ApTukyn A, MM B, mm C, MM LleHa, €
1110(300)P 700 500 300 2070
1110(500)P 700 500 500 2400
1110(700)P 700 500 700 2980
1110(1000)P 700 500 1000 3610
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ApTukyn A, MM B, Mm C, Mmm LlenHa, €
105(500) 140 170 500 750
105(1000) 140 170 1000 1230

ApTukyn A MM B, mm C, Mm LleHa, €
105A(500) 140 170 500 840
105A(1000) 140 170 1000 1390
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ApTukyn A, MM B, Mm C, Mmm LleHa, €
112(300)P 110 270 300 670
112(500)P 110 270 500 830
112(700)P 110 270 700 1090
112(1000)P 110 270 1000 1360
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ApTukyn A, MM B, Mm C, Mmm LleHa, €
112A(300)P 140 250 300 760
112A(500)P 140 250 500 920
112A(700)P 110 250 700 1270
112A(1000)P 110 250 1000 1540
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